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reg_asym_saml_diff_ bpm12X_ slope vs run
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reg_asym_sam2_diff_bpm4eY_slope vs run
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reg_asym_sam3_diff bpm1X_ slope vs run
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reg_asym_sam3_diff_bpm4eY_slope vs run
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reg_asym_sam4_diff bpm1X_ slope vs run
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reg_asym_samd4_diff_bpm4aY_slope vs run
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reg_asym_samd4_diff_bpm12X_ slope vs run
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reg_asym_sam5_diff bpm1X_ slope vs run
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reg_asym_samb_diff_bpm4aY_slope vs run
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60—

40

20

=20

_40 .....................................................

_60_ .......................................................

x2 | ndf 3.428 /79
pO 7.742 £ 3.572

45

40

35

30

25

20

15

0.6

0.4

0.2

pull

10

Entries
Mean
Std Dev

80
3457
3410

L]

I-|II|III|III|III

pulllD

Entries 80

Mean 0.0002274

Std Dev 0.207

-8

Livilin
€ 4

-2

0

2

4

6 8




reg_asym_sam_37_avg_diff bpm4eX_slope vs run

20—

—-100

pO

X2 / ndf

8.033/79
-39.11+ 3.06

i A e b A A AT A e e L

pull
.| Entries 80
Mean 2375
‘LStd Dev 181.7

35

30

25

20

15

10

pulllD

Entries 80

Mean -0.006049

Std Dev  0.3168

-8

-6

-4

-2

0

2

4

6 8




80

60

40

20

-20

-40

-60

reg_asym_sam_37_avg_diff bpm4eY_slope vs run

X2 / ndf

pO

3.863/79
-2.891+ 4.09

TN RO~ ST RO THIR LRI (M OO NS 0RO QDN (IS 0O Sthen SHD TEhan <t "Xt St

8 B i b At A e H A e b e A T AT A A A e

pull
i+ Entries 80
Mean -2741
L std Dev 2784

pulllD

45

40

35

30

25

20

15

10

|III|III|III|I-|II|III|III|III

Entries 80

Mean 0.0007035

Std Dev  0.2197

oLLLL
_8

-6

-4

-2

0 2 4 6 8



reg_asym_sam_37_avg_diff_bpm12X_slope vs run

X2/ndf  19.02/79

- _ pulllD
T PO -1.01+0.118 %
i I 1 80
M Mean -0.02117
20
Std De
15
B 101~
TN RO~ ST RO THIR LRI (M OO NS 0RO QDN (IS 0O Sthen SHD TEhan <t "Xt St
BELEEESREETR IS EREET
PR AR R N R R R R RER
= pull
B +2+{ Entries 80 51
= Mean 220.1
E: StdDev 192
0 III|III|III|I|;I|I:‘I|III|III|III

-8 -6 -4 -2 0 2 4 6 8




=20

~40

-60

-80

-100

-120

reg_asym_sam_37_dd_diff_bpm1X_slope vs run

x2 [ ndf 21.26 /79

pO -54.66 *+ 1.895

TN <A~ ST DO THKE LA 00 o NN 0%t AN (IS 0GR Sthen SHD TR <D TR SR

EEEEREARRER R I ERREES

pull

Fie il Entries
Mean 105.9

Std Dev 99.6

25

20

15

10

Entries

:u||I|||||||||||||:‘|||||||||||||

€ 6 4 2 0 2 4 &

8




reg_asym_sam_37_dd_diff bpm4aY_slope vs run

x2 [ ndf 5.039/79
pO —-8.838 + 1.957

TN RO~ ST RO THIR LRI (M OO NS 0RO QDN (IS 0O Sthen SHD TEhan <t "Xt St

EEEEREARRER R I ERREES

pull

“Lstd Dev

30

25

20

15

10

35

pulllD

an  -0.0005055

8 % 4 =2 0 2 4 6

8




reg_asym_sam_37_dd_diff bpm4eX_slope vs run

X2 / ndf
pO

9.852/79
-1.101+1.678

TN RO~ ST RO THIR LRI (M OO NS 0RO QDN (IS 0O Sthen SHD TEhan <t "Xt St

EEEEREARRER R I ERREES

pull

80
424.8
376.1

30

25

20

15

10

O-III|III|III|I|TI|IT|I|III|III|III

pulllD

Entries 80

Mean -0.003819

Std Dev  0.3509

-8

-6

-4

-2

0

2

4

6 8




70

0.8
0.6
0.4

0.2

-0.2

-0.4

reg_asym_sam_37_dd_diff bpm4eY_slope vs run

X2 / ndf
- po

5.33/79
20.2 £ 2.242

TN RO~ ST RO THIR LRI (M OO NS 0RO QDN (IS 0O Sthen SHD TEhan <t "Xt St

EEEEREARRER R I ERREES

pull

el

::| Entries
| Mean

80
-3016
3064

Std Dev

35:—
30:—
25:—
15:—

10

"

;‘||||||||||||||

pulllD

Entries 80

Mean 0.0005279

Std Dev 0.2581

-8

-6

-4

-2

0

2

4

6 8




reg_asym_sam_37_dd_diff_bpm12X_slope vs run

- X2 I ndf

18.2/79
-0.5099 + 0.06459

e - —
fnen—
—

-1.5

TN <A~ ST DO THKE LA 00 o NN 0%t AN (IS 0GR Sthen SHD TR <D TR SR

EEEEREARRER R I ERREES

pull

‘[ Entries
:| Mean
: L Std Dev

80
173.4
1425

05

-05 [

Aieir e i qeib e § e b A b ddeiE

== NI IR R R I I SR NS R

22

20

18

16

14

12

10

pulllD

Entries 80

Mean -0.03102

Std Dev  0.4759

-8

-6

-4

-2

0

2

4

6 8




reg_asym_sam_26_avg_diff bpm1X_slope vs run
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reg_asym_sam_48_dd_diff bpm1X_slope vs run
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